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Note: All questions are compulsory. Carrying of mobik phone during examinations will be
treated as case of unfair means. Missing data, if any, can be appropriately assgithe

1(a). What is an interrupt vector? How many different interrupt vectors are ther
processor and what do they contain? ‘
(b) What are INTO and INT 3 ? Briefly describe a situation where it is used? &
(c) Highlight the differences between software interrupt and the CALL insts

b cticgg.

2. With suitable timing diagrams describe brieﬂy the burst mode a

DMA. Which is more efficient and why? [CO3, 5M]
3. Illustrate with suitable sketch, various registers available in Bentithn pfocessor for the MMX and
SSE instruction set. Describe how MMX and SSE techno ‘%% nhance the performance of the
Pentium processor, K [COS, 5Mj

4. What are the different addressing modes avaﬂabl%% bamtcrocontroller? With a suitable sketch
explain the architecture of 8051 mlcrocontroll ’%%:% [COs, 5M]

J8% math coprocessor? How do they function?

With a neat sketch explain the archite ' math coprocessor. [CO3, 5M]
é% P

6. What are the program invisible ng 's‘%%%?mable in a Pentium processor? Explain the working
‘method of the protected mode %m

Pentium processor using descriptors. [COS5, SM]

7. An 8086 based system useg’ 6- H ART to read the data from a temperature sensor, which is
connected to the systet bg i 'an RS-232-C serial communication channel. The temperature
sensor will Tespongto a nind “TEMP?” in ASCIT string format by transmitting the current
temperature as, digits ) SCII coded decimal number. Write a program to initialize the 16550 and

read the temperaﬁ%re f#ém the sensor and store at memory location starting at 2000:0100H.
“Clack ﬁ'eqlfency of 18.432MHz, 2400 baud rate, 8 data bits, 2 stop bits and even parity.

The FHOuhuffer and Line Control Register are addressed at 30H and 33H respectively. The

fozfg%&%o * i e Control Register and FIFO control registers and Status Register are given below.

*Q et [CO3, 5M]
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